L\‘u dv = uv—jv du

‘a”du = > 0
. Ina
3. ]‘cosudu = sinu+C
4. Ssin udu = —cos u+C
N n+l
5. fax+bydx = BXEB L eop L
- a(n+1)
6. J(ax +b)"dx = iln]axﬂ--b]-JrC
7. ix@x +bydx = @x+b) (ﬂx+b_ b
: a’ n+2 n+l
8. |x(ax+by'dx = 5—%lnlax+b|+C
4 a .
9, gx(ax+b)‘2dx = Iniax + b + b ]+C
: ax+b
[ dx _ 1 X
S;\c(ax+b) B bln1 ax+b ‘ +C

Vax +b
12. \‘-‘-a—"——-dx
X

Y

+C,n -1, =2

{ 2
z"‘a"—)b +Con# -2

n+2

. P dx 2 o fax+b
13. (a M= = emmee AN +C,ifb< 0
()\xv[ax—bb ~b J -b
dx I Vax+b—vb| | .
b - oo +C,
( ) xvfax+b v’ x+b+\fb|
4. \Jé}??ﬁd . 3@_{+b a K__ dx
X 24 xvax+b
r dx Vax+b a|  dx .
15 — = = =+
}xz-ﬂdkb bx  2b xvax+b
[ dx 1 X !
16, |———= = —tan =+C
~\a2-+-x2 i
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17,
18,
19. |
20.
21.

22.

23.

24,

25. |
26. |
27. |
28, |
29,

30. |

[ dx X i -1 X
= +—tan” = +C
“\(32+X2)2 22%@@*+x%) 2a’ a
[ dx _ 1, ix+a
u\az_xz - Zal X—a +C
\ dx _ X L‘ dx
J (aZ__XZ)Z zal(aZ_XZ) 2a2’ aZ_xz
\ FEL =sinh 2 4+C = Injx+Val+x |+C
Va?+x? a

Wa2+x? dx =

Xvat4x? +2 smh‘x C
2 2 a

a ginhtX
8sm

ixVal+ 22 dx = x@ +2xWa’ +x* _ at
o - 8
YN g T —asin | 2] ac
a2 3 2 Ja2 o
LIS jx dx = sinh' 2 EX Lo

X a X

2

X a’ - xVal+x*
eeedx = — S-sin h7' 2 + S T2- 4 C
e e

N

dx :_l]n|a+\/d +x l_l_c
‘xval + x? a X
_.._._g._)i._._ = _M.}_C
CxWalakd a’x
\ dX_ _ ot X 4c
a’-x a
Va’—x? dx = %\/a'—x' +26n' X4

3. (=X

+C
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33.
34.
35.
36.

37,
38.
39.
40,
41,
.
43,
44, |
as. |
46. |

47. |

48.

j dx_+_

j dx .
T

s 3 :
[Vx-atdx = %\/xz—a2 —a?cos ntXac
a

lx?—a?ydx =
_ ﬁqﬂxlﬁaZ)Z—n n— 3

.(_“"LV

n+1J

= €O h"§+C = In|x+Vx2—a?|+C

j dx
(x?-aly

yx(\/ xX—a’)dx =

[xVxi—a’dx =

. 2 5 —
x*—a -
SL—X—)dx = vx*—a’ —a sec”

j(‘fﬁ ) 2’

(2—n)a® (n—2)a’
2 n+2
UX—H_%L +C,n# =2

. 4
Xoxi-atwWxl-a’ —Lcos h' X 4
8 8 a

2 .2
x‘—a -
S—-—dx = cos h'2 —
a

£

+C

2 2
3 X —dx = L osh' X4 2V a7 i
x*—a’ 2
dx 1 1| X |
—=m— = —seC¢ | =|+C = -~cos
5xVx2—»a"‘ a a
dx Vxi—a?
S - +C
sz'/x2~a2 a%x
- sin'l("——‘a)+c
‘v 2ax — x? a

_\.\“2ax—x7dx =

X —

— 2
AVoax—x? + —az—sin‘l(

X—a

a

J+c

(V a’)"3dx, n# -1

# 2

i g7
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50

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

- [W2ax iy = G 2axoxX)" “azli(m)"'zdg

n+1 n+
! dx _ (x-—a)(\‘Zax—xz)z‘“ + n-3) | dx
(V2ax - )" (n—2)a -2 (V2ax— )
SX\‘Zax—xzdx = (x+a)(2x_2a)\/5—a;_x—2 +?§_Sin—1x—a+c
a
A 2
5_25%‘(_,1(1,( = Vlax—x*+a sin—:x__g_g+c
v — 2 -
s_g%_de = 22X sm"(i—a)+c
X /
S—'Lgx—_ = asin 228 V2ax—x* +C
V¥ 2ax —x* a
§____Q’,‘___.. _ 1 ’2a—x+c
XV 2ax — x* ay x
Ssin ax dx = —% cos ax +C
Scos ax dx = %sin ax+C
) _ x _sin 2ax
gsm ax dx = iakrre +C
jcostax dx = 2 L sin 2ax |~
2 4a
Y inhl .
Ssin"ax dx = S _ax cos ax +n—l\sin"'2ax dx
na :
n-1 : N
Scos"ax dx = -cos” ax sin ax +n'1\cos"'2ax dx
na n °
a) lsin a bxdx = — cos(@+b)x cos(a—b)x " 2.2
(@ | x cos bx dx (@i b) 2(a_b) +C, a*#b
by lsin ax sin bx dx = SB@=bX  Sn@TDIX 2 oy
® E 1 ¥ 2(a-b) 2(a+b) A #b
¢) |cos ax cos bx dx = sinfa~b)x | sin@+bx 2 2
(©) 0s X o) 2a i) ,a’#b
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_Cos 2ax .~ .

63. (sin ax cos ax dx =
: 4a
a son+l .
64. \sin“ax cosax dx = 20, onx -1
: (n+1)a .
65. E-C—_Qs—ﬁdx = l]nlsin ax|+C
! sin ax a
- n+l
66. \cos“ax sinax dx = —225 A 4 cng -1
‘ {(n+1)a
67. (S gy — _ Linjeos ax|+c
! cos ax a
o »on-1 i+l »
68. |sin"ax cos™ax dx = —>H__@XCOS ax | n=1iGn"2ax cos™ax dx,
: a(m+n) m+n
n ¥ —-m(fn= —muse No. 86.}
- m sin™'ax cos™'ax  m—1{. . m=1
69. |sin"ax cos™ax dx = fsm ax cos™ "ax dx,
: a(m+n) m+n
m # —n(Ifm = —n, use No. §7.)
70. \ d’f = an [’ tan ——— +C b’ >’
¢ b+c sin ax
71 \ dx _ —1 4| ctbsin ax+Vc —b'cos ax +C b <
“lb+csinax g2 —p? b +c sin ax ’
72, (9 o —ltan(ﬂ—ﬂ‘)w
¢1+sin ax a 4 2
[ dx 1 7T, ax
73, | —— = -tan(—+—-—)+C
-\l—sm ax a 4 2
dx 2 -1 ’b 2
74. = tan tan 22|+ C, b? > ¢*
5b+c cos ax gy p?_¢? [ b+ec 2]
75 \ dx _ 1y |e+beosax+Vei—b?sinax| -~ 2 2
" Ib+c cos ax avel — b2 b+c cos as ’
76. |~ = Lan®c
¢ 1+cos ax a
7. [ _ - i ic
¢ 1~cos ax a 2



. | X .
78. !s sin ax dx = —sin ax— =cos ax+C
a a

79. {x cos ax dx = —l;cos ax+ >sin ax+C
! i a

n

80. {x"sin ax dx = — ia—cos ax + ggx”'lcos ax dx

81. t\-x“cos ax dx = %sin ax— gﬂx“"‘sin ax dx

82. Itan ax dx = - ilnlcos ax|+C

83. gcot ax dx = éln|sin ax}+C

84, Starlzax dx = étan ax—x+C

85. Scotzax dx = - icot ax—x+C

86. itan“ax dx = ta—nr:-l—‘rjl—x-—\'tan"'zax dx, n=# 1
- an-1) -

87. jcot“ax dx = - % - Scot“"z-ax dx, n# 1

88. Ssec ax dx = ilnﬂsec ax+tan ax|+C

89. icsc ax dx = - iln\csc ax+cot ax|+C

90. [sec’ax dx = étau ax+C

— lcot ax+C
a

91. ‘\‘csczax dx

n-2 .
sec’” “ax tan ax ! z\sec“'zax dx, n # 1

\ n
92. |sec"ax dx atn-1) ot

n-2 9
_Csc Taxcotax  n 2\csc"'2ax dx, n# 1
a(n—1) n—-1

il

93. _icsc“ax dx
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+C,n£0

94, Ssec"ax tan ax dx = g::]__a_x

95. |esc™ax cot ax dx = csc ax

+C,n#0
96. [sin"tax dx = x sin"'ax+ %\fl—ale +C

97. fcos'ax dx = x cos™lax~ i\/_lj??‘ +C

08, Stan"lax dx = x tan"ax—iln(l+a2x2)+c

n+l
99. jx“sin"ax dx = =X sin"ax——a~§_—-ix—~ -1
n+ :

100. [x"cosax dx

n+| n+i
n -1 _ X bl POV a ____X____dX —_
101, jx tan” ax dx = Soytan ax n_+l§ A n# —1
ax _ 1 ax
102 fe*dx = S+ C
ax i b
103. Jbdx = gt b0 bl
104, {xe™dx = Ssqax—1+C
a
105. Sx“e“"dx = Lynem_ —qﬂx“"c""‘dx
a a
. npyX = x"b* . n n-lgaxg , 0,
106 Jurberdx = 2 a———lanx X, b>0, bl ‘
107. Se""sin bx dx = Ze' 5(a sin bx—b cos bx) +C
a“+b .
108. Je¥icos bx dx = —*—(a cos bx+b sin bx)+C
a .

109. gln ax dx = x Inax—x+C

5
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110.

111.

112,

113.

114.

115.

116.

117.

118.

119,

120.

121,

122.

123.

124,

125.

126.

. Xni-l n+l
Ix"In ax dx = ——1In ax—- 5
n+i {(n+1)

v

lx"'In ax dx = -i—(]n ax)’+C

U S Iniin axi+ ¢
X noax

isin hax dx = ~cos h ax+C

£ -

Ecos haxdx = ésin hax+C

i 2ax
sinh2ax X |~

in h’ax dx =
5511’1 ax ax 42 5

lcos hlax dx = Hohzax, X o
’ 4a 2

sin h"'ax cos hax _n-—1

Ssin h"ax dx =
na

cos h"'ax sin h ax  n—1¢

+C,n#1

{sin h"?ax dx, n # 0

gcos hMax dx =
: na

gx sin h ax dx = Xcos h ax—-—lzsin hax+C
: a a

. 1
Ex cos h ax dx = 2sin h ax— —cos h ax+C
a a’

- n -
. ni.:

ﬂx“ cos h ax dx = “-sin h ax~ g\x

) a !

\'tan h ax dx = %ln(cos hax)+C

Xcol hax dx = éln|sin haxj+C

\tan h’ax dx = x-— é tan h ax+C

{cot hax dx = x - —é—co( hax+C

n -
[x" sin h ax dx = % cos h ax— D|x
a a

“lecos hoax dx

“lsin h ax dx

icos h"?ax dx, n # 0
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127.

128.

129.

130.

131.

132.

133.

134,

135.

136.

137.

138.

139,

140.

141.

tan h" 'ax

[tan h"ax dx = - T +{tan h"2axdx, n # 1
. . n-1 N
_\cot h"ax dx = — %ET}:—)-(— +'.\cot h™?ax dx, n # 1
_\‘sec hax dx = ésin"(tan h ax)+C
~icsc: hax dx = éln tan b3 | +C
|sec hax dx = %tan h ax+C
Scsc hlax dx = —.i— cot h ax+C
N n-2 _ .
\sec hax dx = €€ h" “ax tan h ax 4+ ngec h"2ax dx, n # |
‘ (n—1a n—1°
a n-2
\csc hhax dx = —S5€ h"“ax cot h ax_n—ZSCSC h"?ax dx, n # 1
. (n—1)a n—1 .
gsec h"ax tan h ax dx = _ﬁ%;ﬂ_hc’ n#0
n
Scsc h"ax cot h ax dx = __c§cnt‘;;ax+c, n+0
ax bx -bx
Eea"sinhbxdx-—-e {e < ]+Ca4=b2
: ‘ a+b a-b
N ax bx -bx
\ca"coshbxdx=-‘?—[e +& _|+cC, at # b?
’ . a+b a-b
‘ x"lerdx = T(n) = (_n—l)! n>0
‘0
E e dx = %E, a>0
0
1-3:5:..:(n—1) .7 , if n is an even integer =
2 a2 24°6-..n
S sinxdx=j cos"x dx = ) 1
o 0 2:4:6...-(n_1) if n is an odd integer >
3-5-7-...'n

MA 112

z 2,

3



